

अखिलभारतीयआयुर्विज्ञानसंस्थान,रायपुर (छत्तीसगढ़)

All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG) www.aiimsraipur.edu.in

NIQ No: 04/EE/AIIMS/RPR/2019-20

Date: 15/05/2019

NOTICE INVITING QUOTATION

Sealed quotation is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from intending Electrical Contractors of CPWD, MES, BSNL, Chhattisgarh State PWD having relevant documents and should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-01, AIIMS Raipur up to 3:00 pm on date: 20-05-2019. The quotations will be opened on the same day at 3:30pm. As per detailed below:-

The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned.

Sl No	NAME OF WORK	EST. COST in ₹	E.M.D in ₹	TIME
1	Electrical Works at Medical Gas Plant, AIIMS			
	Campus, Raipur.	Rs.1,27,322.00	Rs. 2546.00	30days.

SCHEDULE OF QUANTITY

SI.	Description of items	Quantity	Rate	Unit	Amount		
	As PER SHEET ATTACHED						

Terms & Conditions:

- 1. The percentage rates are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. Security Deposit @2.5% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 3. Liquidated damages @ 0.5% of quoted value per week will be deducted for delay of work subject to maximum up to 10% of quoted value.
- 4. The work will be executed as per **CPWD specification** and direction of the Engineer-In Charge.
- 5. Time allowed for the **completion of the work** is **30 days**. It will be reckoned from the day award of the work.
- 6. Electrical item will be taken as per mentioned make & specification on schedule of quantity (Annexure-"A").
- 7. Unless otherwise provided in the Schedule of quantities, the rates tendered by the contractor shall be all inclusive and shall apply to all heights, lifts, leads and depths of the building and nothing shall be payable to him on this account.
- 8. The first and final bill payment will be done after completion of work as per specification.
- 9. The bidder shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work.
- 10. The Contractor shall remove from site all rubbish and debris generated by the Works and keep Work site clean and tidy.
- 11. Copy of Electrical Contractor registration certificate with validity, GST Registration, PAN Card should be attached with Quotation.

- 12. All damages done to the building during execution of electrical work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 13. EMD Rs. 2546.00 has to be deposited in form of DD/FDR/BG in favor of AIIMS Raipur with quotation. In case the lowest bidder refuses to execute the work, EMD will be forfeited.

(Er. Manoj Rastogi) Executive Engineer (Civil) AIIMS Raipur

Copy to:

- 1. The Director, AIIMS Raipur.
- 2. DDA, AIIMS Raipur,
- 3. Financial Advisor, AIIMS Raipur.
- 4. Account Officer-I, Project Cell, AIIMS Raipur.
- 5. Er. Lukesh Kumar Dewangan, JE (Electrical) For preparation of Analysis of rate & justification statement.

6 Original File- 54(89)

0/c

(Er. Manoj Rastogi) Executive Engineer (Civil) AIIMS Raipur

X 5/9

Annexure-"A"

	Schedule of	Quantity	-	7411102	ure- A
Name	of Work:- Electrical Works at Medical Gas Plant, AllMS Can	npus,Raipur.			
S.No	Description of Items	Qty	Unit	Rate	Amount
1	Wiring for circuit/ submain wiring alongwith earth wire with the following sizes of FRLS PVC insulated copper conductor, single core cable in surface/ recessed steel conduit as required. (Make:-KEI/ HAVELLS/ RR KABLE/ POLECAB/ FINOLEX or equivalent)				
1.1	2 X 1.5 sq. mm + 1 X 1.5 sq. mm earth wire	170	Metre	208.00	35360.00
1.2	4 X 16 sq. mm + 2 X 6 sq. mm earth wire	25	Metre	946.00	23650.00
2	Supplying and fixing of following ways surface/ recess mounting, vertical type, 415 V, TPN MCB distribution board of sheet steel, dust protected, duly powder painted, inclusive of 200 A tinned copper bus bar, common neutral link, earth bar, din bar for mounting MCBs (but without MCBs and incomer) as required. (Note: Vertical type MCB TPDB is normally used where 3 phase outlets are required.) (Make:-Legrand,GE,Hager,ABB, Siemens, Schneider,Havells,L&T or equivalent				
2.1	4 way (8 + 12), Double door	1	Each	5651.00	5651.00
3	Supplying and fixing 5 A to 32 A rating, 240/415 V, 10 kA, "C" curve, miniature circuit breaker suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning etc. as required. (Make:Legrand,GE,Hager,ABB, Siemens,Schneider,Havells,L&T or equivalent)				
3.1	Single pole (16 Amp)	12	Each	199.00	2388.00
4	Supplying and fixing following rating, four pole, (three phase and neutral), 415 volts, residual current circuit breaker (RCCB), having a sensitivity current 30 mA in the existing MCB DB complete with connections, testing and commissioning etc. as required. (Make:Legrand,GE,Hager,ABB, Siemens,Schneider,Havells,L&T or equivalent)				
4.1	40 A	1	Each	2626.00	2626.00
5	Supplying and fixing TP&N MCB,440 volts, 'C' curve, suitable for inductive load of following poles in the existing MCB DB complete with connections, testing and commissioning & accessories etc. as required. (Make:Legrand,GE,Hager,ABB, Siemens,Schneider,Havells,L&T or equivalent.				
5.1	40 Amp	1	Each	2407.00	2407.00
6	Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required. (Make:Crabtree,Lanrand,L&T Siemens North west,Roma or equivalent)				

6.1	15/16 A switch	14	Each	110.00	1540.00
6.2	6 pin 15/16 A socket outlet	9	Each	128.00	1152.00
7	Supplying and fixing following size/ modules, GI box alongwith modular base & cover plate for modular switches in recess etc. as required. (Make:Crabtree,Lanrand,L&T Siemens North west,Roma or equivalent)				
7.1	3 Module (100mmX75mm)	3	Each	267.00	801.00
7.2	6 Module (200mmX75mm)	5	Each	333.00	1665.00
8	Supply & Fixing 1400RPM 225mm sweep exhaust fan metal body suitable for single phase,230Volts,50HZ,AC Supply complets with moter, Louvers/ Shutters & accessories etc. as required and furnishing 1 Yrs Guarantee certificate from manufacturer. (Make:Orient,Havells,Crompton,Bajaj or equivalent)	4	Each	1759.00	7036.00
9	Supply & Fixing 1200mm Ceiling Fan suitable for single phase 230Volts ,50Hz ,AC supply complete with motor & all accessories etc. as required and furnishing 1 Yrs Guarantee certificate from manufacturer. (Make:Orient,Havells,Crompton,Bajaj or equivalent)	4	Each	2358.00	9432.00
10	Supply & Fixing 18Watts Led Batten T5 Tube light Ceiling mounted Fixture with all fixing accessories as required and furnishing 2 Yrs Guarantee certificate from manufacturer. (Make:Wipro,Bajaj,Crompton,Havells, or Equivalent)	16	Each	346.00	5536.00
11	Supplying, fixing of following 150 Watt LED Flood light with inbuilt electronic driver heat sink and all other accessories in existing holder/ luminaries as required and furnishing 2 Yrs Guarantee certificate from manufacturer. (Make:Wipro,Bajaj,Crompton,Havells, or Equivalent)	2	Each	14039.00	28078.00
				Total	127322.00

(Rupees One Lakh Twenty Seven Thousand Three Hundred Twenty Two) only
Above

	Percentage Rate Quoted by the Agency (In Figures)	Below	%	Do
	Quoted Amount (In Words):Rupees			
1				
	Name of Agency:			
	Address Details:			
	Contact no:			
	Valid email id:			